Zill Differential Equations 9e Chapter 14 Form A
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. Consider the wave equation problem

. Define erf(x).

. What is lim,_, erf(z)?
. What is L{erf(/t)}?

. What is L{elerf(v/t)}?

. What is £ {25017

2 2y e o
207 _ % with initial and boundary conditions

a” 52
u(0,t) = 0, u(l,t) = 0, u(z,0) = f(x), %(m,O) = 0. Describe a physical problem
with this as a mathematical model.

In the previous problem, apply the Laplace transform to the differential equation.
What is the resulting problem for U(x, s) = L{u(x,t)}?

. In the previous problem, if f(x) = sin(nwz), what is the solution for U(z,s)?

. In the previous three problems, what is the solution for u(x,t)?

Define the Fourier integral of a function f.

Give conditions on the function f that guarantee that the Fourier integral of f con-
verges.

In the previous problem, what additional conditions would guarantee that the Fourier
integral of f converges to f(z)?

0 if r<—1
Let f(x)=¢ 1 if —1<ax<1 ;. Find the Fourier integral representation of f.
0 if z>1

For the function defined in the previous problem, find the Fourier cosine integral
representation.

For the function defined in the previous two problems, find the Fourier sine integral
representation.

Write down the Fourier transform pairs for a function f.

Consider the heat equation % = % on —o0 < x < 00, subject to the condition
0 if r< -1
u(z,0) =¢ 1 if —1<xz<1 . Apply a Fourier transform, and write down the

0 if z>1
transformed equation for the Fourier transform U(a, ).

In the previous problem, what is the transformed initial condition?
In the previous two problems, what is the solution for the Fourier transform, U(a,t)?

In the previous three problems, what is the solution for u(x,t)?
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erf(z) = 2 [T e " du//T
1

1/(sv/s +1)

1/(Vs(s — 1))

sU(x, s) — u(z,0)

Vibrations of a string, tightly stretched between x = 0 and « = 1, with initial position
f(x) and zero initial velocity

a*Uyy = 82U — sf(x), U(0,8) =0, U(1,8) =0

U = [s/(s® + a®n?)] sin(rz)

u = cos(art) sin(rz)

Flx) = [C1(°, f(t) cos(at) dt) cos(ax) + ([, f(t)sinat dt) sin(ax)] da /T

f and f’ are piecewise continuous on every finite interval and f is absolutely integrable
on (—00,0)

f is continuous on (—oo, 00)

fx) =2 [°[sin o cos(ax) /o] da/T

fx) =2 [$°[sin o cos(ax) /o] da/T

F(@) =2 [$°1(1 = cos @) sin(azx)/a] da/m on [0, c0)

Fif(@)} = [% (@)™ de = F(a), FH{F(a)} = [7 F(a)e " da/(2m) = f(x)
—a2U = U,

U(a,0) = 2sina/a

U = 2sinae*t/a

w= [ [sin(a)e™*te0 /o] dov /7
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10.
11.
12.

13.

14.
15.
16.

17.

18.

19.

20.

. Define erfc(z).

. What is lim,_, erfe(x)?
. What is L{erfc(v/t)}?

. What is L{elerfc(v/1)}?

0%u du

. Consider the heat equation problem gz = Z; with initial and boundary conditions

u(0,t) = 0, u(1,t) = up, u(z,0) = 0. Describe a physical problem with this as a
mathematical model.

. In the previous problem, apply the Laplace transform to the differential equation.

What is the resulting problem for U(x, s) = L{u(x,t)}?

In the previous problem, what is the solution U (z, s)?

. In the previous three problems, what is the solution u(z,t)? Hint: write the solution

for U(x, s) in terms of exponentials and expand in an infinite series.

. Define the Fourier cosine transform of an even function f.

In the previous problem, what is the inverse Fourier cosine transform?
Find the Fourier cosine transform of the function f(z) = e~ 1*l.

Consider the steady state temperature distribution on a semi-infinite plate determined
by 0 < z < m, y > 0, with zero temperature at + = 0 and at y = 0, and with
temperature u = e Y along x = m. Write down the mathematical model for this
problem.

In the previous problem, apply a Fourier sine or cosine transform in y to produce a
transformed function U(x,«). What is the resulting differential equation for U?

In the previous two problems, what are the resulting boundary conditions for U?
What is the solution U(x, o) of the previous two problems?

In the previous four problems, what is the solution for the temperature, u(z,y)?

0 if <0
Find the Fourier integral representation of the function f(z) =¢ 1 if 0<x <2
0 if x> 2

In the previous problem, what characteristics of the given function guarantee that the
integral converges?

In the previous two problems, to what value does the integral converge at x = 17

In the previous two problems, to what value does the integral converge at x = 07
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erfe(z) = 2 [ e du/ /T

0
(1-1/vs+1)/s
1/(vs(Vs+1))

Temperature in a rod of length 1, with zero temperature at x = 0, zero temperature
initially, and temperature of ug at x =1

Uze = sU, U(0,s) =0, U(1,s) =up/s

U= ug sinh(v/sz) _ g eVs(@E—1 _e—Vs(at+l)
" s sinhys T s 1—e—2Vs

u=up Yl {erfc (Qn;—\}{,—gg) — erfc (%)}

FAF(@)} = [5° f(x) cos(a)dz = F(a)
FrHF(a)} =2 [ Fla) cos(az)da/n = f(x)

Fole 2} = [0 eIl cos(az)dz = 1/(1 + a?)

Uzg + Uyy = 0, u(0,y) =0, u(z,0) =0, u(r,y) =eY

Upe — 02U =0

U(0,a) =0, U(r, o) = a/(1 +a?)

U = asinh(az)/((1 + o?) sinh(ar))

u =2 [;°lasin(ay) sinh(az)/((1 + o?) sinh(ar))da/m

f(z) = [57{[sin(2a) cos(az) + (1 — cos(2a)) sin(az)]/a}da/m

f and f’ are piecewise continuous on any finite interval, and f is absolutely integrable.
1

1/2



Zill Differential Equations 9e Chapter 14 Form C

1. The error function is defined as

Select the correct answer.

(a) erf(z) = [fe ™ du

(b) erf(x) = [ e du

(c) erf(z) =2 [ e du/m
(d) erf(z) =2 [ e % du/\/7
(e) erf(z) =2 [ e du//T

2. The value of lim,_,, erf(x) is

Select the correct answer.

3. The value of L{erf(v/t)} is

Select the correct answer.

(a) 1/(svs+1)
(b) 1/(svs —1)
(€) 1/((s +1)v/s)
(d) 1/

)

(s

(s
(

d) 1/((s = 1)V/s)

(e) none of the above

4. The value of L{elerf(v/t)} is

Select the correct answer.



Zill Differential Equations 9e¢ Chapter 14 Form C

5. The Laplace transform of a function f is
Select the correct answer.
(a) L{f(z)} =[5~ ' f(t)dt
(b) L{f(z)} = [ e f(t)dt
(c) L{f(2)} = [~ e f(t)dt
) L{f(x)
) L{f(x)

8

(d) L{f(x)} = Jg® e~ f(t)t
(e) L{f(2)} = J§ e f(t)dt

6. Tf Uz, s) = L{u(z, 1)}, then L{Zx} is

Select the correct answer.

() Us(a,5)
(b) sU(x,s)

(c) s?U(x,s) — u(z,0)

(d) s2U(x,s) — u(z,0) — suy(x,0)
(e) s2U(x,s) — su(x,0) — uy(w,0)

7. f U(z,s) = L{u(z,t)}, then E{%} is

Select the correct answer.

(a) sU(x,s) — u(zx,0)

(b) sU(x,s) — uz(x,0)
(¢) sU(x,s) — su(x,0)
(d) Ue(z,s)

(e) Us(,s)

8. Suppose F{f(z)} = F(a), F{g(x)} = G(«). In the convolution theorem, the formula
for the Fourier transform is

Select all that apply.
(a) 2o f(r)g(t = T)dr = FH{F
(b) [ f(t = T)g(r)dr = F~HF

(c) F{/2 f(T)g(t — )dr} = F(a

(d) F{/Z f(t=7)g(r)dr} = F(a

(e) none of the above



Zill Differential Equations 9e Chapter 14 Form C

9. Consider the problem of a vibrating string, tightly-stretched between x = 0 and = = 1,
with a fixed initial position, f(z), and zero initial velocity. The mathematical problem
for the deflection, u(x,t), is (with w(0,t) = 0, u(1,¢) = 0)

Select the correct answer.

(a) %:%,u(m,O):f( ), ut(z,0) =0
(b) % + % =0, u(z,0) = f(z), u(z,0) =0
(c) T4 = Pu 4(x,0) = f(z), ue(z,0) =0
(d) % + % =0, u(z,0) = f(x), u(x,0) =0
() % = %, u(z,0) =0, u(z,0) = f(z)

10. In the previous problem, apply the Laplace transform. The resulting equation for
U(z,s) = L{u(z,t)} is

Select the correct answer.

) ‘?927%7 + 52U = —sf(x)
) 2U 4+ s2U = f(x)

) G =50 = —f ()
)
)

(a
(b
(c
(d
(e

11. In the previous problem, assume that f(x) = sin(wz). The solution for U(x, s) is

Ox?
U $2U = sf()

922 — 8

% — 82U = —sf(x)

Select the correct answer.

(a) U
(b) U
()
(d)

)

= sinh(sz) + 7= sin(mz)

= cosh(s:z:) = sin(mr)
== sin(mz

d
(e

12. In the three previous problems, the solution for u(z,t) is

U= )
U= 2+ﬂ2 sin(7x)
U= x)

2+ 5 sin(7m

Select the correct answer.

in(7mzx) sin(7t)

I
w0

(a)
(b)
()
(d)

)

)
= sin(mz) cos(7t)
)

h(mt)
(

d
(e

= COS(TTT

(
(

u
u
u = sin(mz) cos
u
u

) st
)



Zill Differential Equations 9e¢ Chapter 14 Form C

13. The Fourier integral representation of a function f is given by

Select the correct answer.

(a) [ f(x)
(b) 2% f(x)
fé”[f f(t

cos(ax)dz
sin(ax)dz

)
) cos(at)dt cos(ax) + [°5 f(t) sin(at)dt sin(az)]da

>, f(t) cos(at)dt cos(azx) + [°2 f(t)sin(at)dt sin(az)]da/T
(e) Jo L o [(t) cos(at)dt cos(ax) + [72 f(t) sin(at)dt sin(az)]da/(2m)

0 if r< -1
14. Let f(x) =< 1 if —1<az <1 ;. The Fourier integral representation of f is
0 if z>1

f(z) = [y°[A(a) cos(ax) + B(a) sin(ax)|do/m, where

Select the correct answer.

) A(a) =sina/a and B(a) = cosa/a

) A(a) =2cosa/a and B(a) = 2sina/«
(¢) A(a) =2sina/a and B(a) = 2cosa/«

) A(a) =0 and B(o) = 2sina/a

) A(a) =2sina/a and B(a) =0

15. In the previous problem, the integral representation converges at x = 1 to the value

Select the correct answer.

(a) 0

(b) 1

(c) 1/2

(d) -1

(e) none of the above

16. The complex form of the Fourier integral of a function f is

Select the correct answer.

(a) [, F(t)etdt
(b) J2% (S5 F(t)etdt) e dar/(2m)
(c) S5, f(t)eiotdt
() [, (S5 ft)eietdt) e da/n

)

/2%
(&) S (S22 F(t)ectdt) emovday/n



Zill Differential Equations 9e Chapter 14 Form C

17. Consider the problem of finding the temperature in a semi-infinite rod with zero initial
temperature and a fixed constant temperature, ug, at £ = 0. The mathematical model
for this problem is

Select the correct answer.

(a) k24 =2 y(z,0) =0, u(0,t) = ug

(b) k&% = Pu 4(x,0) = 0, u(0,t) = ug

(c) k2% 4+ 98 =0, u(x,0) = 0, u(0,t) = ug

(d) k2% + 24 =0, u(z,0) = ug, u(0,t) =0
(€) k&4 4+ %u =0, u(x,0) = ug, u(0,t) = 0

18. In the previous problem, apply a Fourier sine transform in z. The new problem for
the transform U(a,t) is

Select the correct answer.

(a) k%—[tj + a?U = kaug, U
(b) k9 — a?U = kaug, U
(c) %—Itj + ka®U = kaug, U
(d) & —ka®U = kaug, U

)

(e %—[t]—l—aQU:kauo, U(a,0) =0

19. In the previous problem, the solution is

Select the correct answer.

20. In the three previous problems, the solution for the temperature u(z,t) is

Select the correct answer.

—_
|
a
B
Q
[
NJ
~
L L
IS
Q
~
N
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1. e

2. b

10. e
11. d
12. b
13. d
14. e
15. ¢
16. b
17. a
18. ¢
19. d
20. e



Zill Differential Equations 9e Chapter 14 Form D

1. The complementary error function is defined as

Select the correct answer.

2. The value of lim,_, erfc(z) is

Select the correct answer.

3. The value of L{erfc(v/1)} is

Select the correct answer.

(a) A+1/Vs+T1)/s
(b) A +1/vs=T)/s
(c) (1-1/vs+T1)/s
(d) A-1/Vs=T)/s
(e) none of the above

4. The value of L{e'erfc(v/t)} is

Select the correct answer.



Zill Differential Equations 9e¢ Chapter 14 Form D

5. Consider a semi-infinite, elastic, vibrating string, with zero initial position and ve-
locity, driven by a vertical force at x = 0, so that u(0,¢) = f(¢). Assume that
limg—ou(z,t) = 0. The mathematical model for the deflection, u(x,t), is

Select the correct answer.

(a) a?2u = W, w(0,t) = f(t), u(z,0) =0, uy(z,0) = 0
(b) a*Zu atg =0, u(0,t) = f(t), u(z,0) = f(t), u(x,0) =0
(c) a?24 = 8t, w(0,t) = f(t), u(z,0) = 0, u(z,0) =0
(d) a22% + 9u =0, u(0,t) = f(t), u(x,0) = 0, u(z,0) =0

() 0?34 = %, u(0,t) = f(t), u(z,0) = f(t), uy(x,0) =0
6. In the previous problem, apply the Laplace transform. The resulting equation for

U(z,s) = L{u(z,t)} is

Select the correct answer.

(a) a?%Y +5°U = —sf(x)

(b) 224 +5°U =0
(c) 2%;5 s°U = —f(x)
(d)
(e) a

7. In the previous problem, assume that f(t) = sin(nt). The solution for U(x, s) is

@2Y — 2U = sf(2)

28U 2U:0

Select the correct answer.

(8) U= oy o—sz/a
(b) U= s2f7r2 e—sw/a
(¢) U = fqese/a
(d) U = oZpese/a
(e) U= 248_7(2 sinh(—sx/a)

8. In the three previous problems, the solution for u(z,t) is

Select the correct answer.

) u = sin(rt)U(t —x/a)
) u=sin(r(t —x/a))U(t — z/a)
) u = sin(7x) cosh(mt)
) u = cos(mx) sinh(mt)
) u (

= cos(n(t —z/a))U(t —x/a)



Zill Differential Equations 9e Chapter 14 Form D

9. The Fourier cosine integral of a function f defined on [0, 00] is
Select the correct answer.
(a) 2 [5°1o° f(z) cos(ax)da] cos(az)da/m
() [5°UeT f(z) cos(ax)dz] cos(ax)da/m
(¢) 2 [5°1)o7 f(z) cos(ax)dz] cos(ax)da
(d) J5CUo? f(z) cos(ax)da] cos(ax)dx
(e) 2 [o°1)o7 f(x) cos(ax)da] cos(ax)dx/m

10. The Fourier cosine integral of f(z) =e %, x >0 is

Select the correct answer.

(a) f(z) =2 ["lacos(ax)/(1 + a)]da
(b) f(z) = [g"[ecos(az)/(1 + o?)lda/n
(¢) fz) = fy"lacos(az)/(1 + a?)|da
(d) f(z) =2 fg°[cos(az)/(1 + o?)]da/m
(e) f(z) =2 [5"[cos(ax)/(1 + a)lda/m

11. In the previous problem, the integral converges at x = 0 to the value

Select the correct answer.

12. In the previous two problems, the integral converges for x < 0 to the function

Select the correct answer.

a

(
(b
(

N

—x
x

aQ

(c
d

(e

— 8

N — — —

none of the above



Zill Differential Equations 9e¢ Chapter 14 Form D

13. The solution of the integral equation [;° f(z)cos(az)dr = F(«) is

Select the correct answer.

(a) f(z) = [5° F(c)cos(azx)da/m
(b) f(z) =2 [y F(a)cos(az)da/m
(©) f(x) =2 5° F(a) cos(ax)da
(d) f(z) = [y" F(a)cos(az)da

(e) none of the above

14. In the previous problem, if F'(«) = e, then f(z) is

Select the correct answer.

(a) x
(b) 1
(c) 1/(w(1 + %))
(d) 2/(n(1+2?))
(e) 0
0 if z <0
15. Let f(x) =< 2 if 0<a2<3 . The Fourier integral representation of f is

0 if T >3

Select the correct answer.

(a) f(z) = Jg"{lsin(az) + sin((3 — z)a)]/a} do/7
(b) f(z) =2 [y {[sin(ax) + sin((3 — x)a)]/a} da
(©) fz) =2 [g{[sin(ax) + sin((3 — z)a)]/a} do/7
(d) f(z) = Jg~{lsin(ax) + sin((3 — z)a)]/o} do

(e) none of the above

16. In the previous problem, the integral converges at £ = 0 to the value

Select the correct answer.

(a
(b

(c
(d
(e

— O D
= W N = O
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17. Consider the temperature, u(z,t), in an infinite rod (—oo < z < 00), with an initial
temperature of f(x) = e~1*l. The mathematical model for this is

Select the correct answer.

(a) kU = 2u y(z,0) = e

(b) k%za—? u(z,0) =e~ ||

(c) k&% =G4, u(z,0) =l

(d) k24 + 24 =0, u(z,0) = e
(e) kzgi + ‘?91; 0, u(z,0) = eIl

18. Apply a Fourier transform in x in the previous problem. The resulting equation for
U(a,t) = F{u(x,t)} is

Select the correct answer.

(a) ka?U = U, U(a,0) =2/(1 + a?)
(b) kaU = Uy, U(a,0) = 1/(1 + o?)
(c) ka?U = Uy, U(a,0) = 1/(1 + a?)
(d) —ka?U = Uy, U(a,0) = 2/(1 + a?)
(e) —kalU = Uy, U(a,0) = 2/(1 + a?)

19. In the previous problem, the solution for U(a,t) is

Select the correct answer.

20. In the previous three problems, the solution for u(z,t) is

Select the correct answer.

e"tare=kat /(1 1 o) da/T
e ko™ /(1 4 02)] o/ (27)



ANSWER KEY
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1. d

2. a

10. d
11. ¢
12. b
13. b
14. d
15. ¢
16. b
17. a
18. d
19. e
20. b



Zill Differential Equations 9e Chapter 14 Form E

1. Show that erf(v/t) = [i(e™"//T)d7/\/T.

2. Use the previous problem and the convolution theorem to find £{erf(v/*)}
3. Using the previous two problems, what is £{erfc(v/t)}?

4. What is £{e=9"/4 )\/mt}?

5. What is £~ {e"2V*}?

6. The Laplace transform of f(t) is defined as

Select the correct answer.

7. If U(z,s) = L{u(z,t)}, the Laplace transform of % is

Select the correct answer.

8. If U(z,s) = L{u(x,t)}, the Laplace transform of the wave equation 02% = % is

Select the correct answer.

(a) a? = sU — u(x,0)

(b) a? = sU — us(x,0)

(c) a? = 52U — su(z,0)

(d) a2U ve = 82U — u(x,0)

(e) a’U,, = s*U — su(x,0) — uy(x,0)



Zill Differential Equations 9e¢ Chapter 14 Form E

9. In the previous problem, assume that a = 1 and use the boundary and initial condi-
tions u(0,t) = 0, u(1,t) = 0, u(x,0) = 0, us(x,0) = sin(wz). This is a mathematical
model for

Select the correct answer.

(a) Laplace’s equation on a semi-infinite region of the x — —t plane

(b) the heat equation for a rod of length 1 with zero temperatures at the ends and
given initial temperature

(c¢) the wave equation for a vibrating string, tightly stretched between x = 0 and
x = 1, with zero initial position and a given initial velocity

(d) the wave equation for a vibrating string, tightly stretched between x = 0 and
x = 1, with zero initial velocity and a given initial position

(e) none of the above

10. For the previous two problems, the boundary condition(s) on U is (are)

Select all that apply.

(a) U(0,s) =0
(b) U(1,s) =0
(¢) U(x,0)=0
(d) U(z,1)=0
(e) U(0,s)+U(1,s) =0

11. In the previous three problems, the solution U(z, s) is

Select the correct answer.
= sin(mx) /(s + 72)

) Ulz,s)

) U(z,s) = sinh(sx) + sin(7z)/(s? + 72)
c¢) U(z,s) = casinh(sz) + sin(mz)/(s? + 72)
) Ulz,s)
) Ulz,s)

K
»

= cosh(sx) + sinh(sz) + sin(7x)

= ¢; cosh(sz) + sin(mz)

12. In the previous four problems, the solution u(x,t) is

Select the correct answer.

os(mz) cos(mt)

K
Il
o

(a
(

=

= cos(mz) sin(7t)
( cos(7t)
( (
(e

o,

8

)
)
) = sin(7x)
) = sin(7z) sin(7t) /7
) (mz)

cos(mt)/m

8

T

13. Write down the Fourier integral representation of a function f(z).
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14.

15.

16.

17.

18.
19.

20.

0 if <0
Find the Fourier integral representation of the function f(z) =¢ 5 if 0<x <3

0 if >3
Define the function g by g(z) = f(x) if x > 0, where f is defined in the previous prob-
lem, and, for z < 0, let g(z) = —g(—=z). Find the Fourier sine integral representation
of g(z).

Consider the problem k% = %, u(z,0) = 0, u(0,t) = 10. Describe a physical
problem having this as a mathematical model.

In the previous problem, apply an appropriate Fourier sine or cosine transform. What
is the resulting equation for U(«,t)?

In the previous two problems, what is the initial condition for U(a,t)?
In the previous three problems, what is the solution U(a,t)?

In the four previous problems, what is the solution u(z,t)?



ANSWER KEY
Zill Differential Equations 9e¢ Chapter 14 Form E

1. erfyt = 2f0‘/Z e du/\/7. Let u= /7, du = dr/(2y/7). Then erfy/t =
Jole™™ /N/T)dr/\/m

2. 1/(svs +1)

3. 1/s —1/(sv/s +1)

4. e~ W5/ /s

5. ae~ /4 /(2v/7t3)

6. b

7. ¢

8. e

9. ¢

10. a, b

11. a

12. d

13. f(z) = J°1f%, f(x) cos(ax)dx cos(ax) + [, f(z)sin(ax)dzr sin(az)]da/n
14. f(z) = [°[5sin(3a) cos(az) + 5(1 — cos(3a)) sin(ax)]/a do/n
15. g(z) = 2 [2°[5(1 — cos(3a)) sin(az)] /a da/x

16. Temperature in a semi-infinite rod, with zero temperature initially, and a temperature
of 10 at the left end

17. Uy t) = Fe{u(z,t)}, Uy = —kaU + 10ka
18. U(a,0) =0
19. U(a,t) = 10(1 — e~ /o

20. u(x,t) =20 [5°(1 — e~ k) sin(ax) o da /0



Zill Differential Equations 9e Chapter 14 Form F

1. The error function is defined as

Select the correct answer.

(a) erf(z) = [fe " du

(b) erf(x) = [ e du

(c) erf(z) =2 [y e du/m
(d) erf(z) =2 [ e % du/\/7
(0) erf(w) = 2 J§ e du/ V7

2. The value of lim,_,gerf(x) is

Select the correct answer.

3. The value of L{erfc(v/1)} is

Select the correct answer.

(a) (1+1/Vs+1)/s
(b) 1+1/Vs=1)/s
(c) 1-1/Vs+1)/s
(d) 1-1/Vs=1)/s
(e) none of the above

4. The value of L{e'erfc(v/t)} is

Select the correct answer.

(a) 1/ - 1)
(b) 1/ 1)

) /(s
) 1/ (Vs
(c) 1/ )
(d)
)

%%
i

(
(

[

—

Py

%
+
—_

(
(
(

d) 1/(s(v's = 1))

(e) none of the above

5. Show that [’ e~ du = /mlerf(b) — erf(a)] /2
6. If U(z,s) = L{u(z,t)}, what is L{ P17

7. Consider the heat equation g 5 = at Apply a Laplace transform in t and write down

the new equation for U(z,s) = L{u(z,1)}.
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8. In the previous problem, if the boundary and initial conditions are u(0,t) = 0, u(2,t) =
10, u(z,0) = 0, describe a physical problem with this as a mathematical model.

9. In the previous two problems, what are the new boundary conditions for U?
10. In the previous three problems, what is the solution U(z, s)?
11. In the previous four problems, what is the solution u(x,t)?

12. Briefly explain how the Fourier integral representation of a function can be derived
from its Fourier series.

13. Let f(z) = e~ 1#l. The Fourier integral representation of f(z) is

Select the correct answer.

(a) f(x) = [g"[cos(ax)/(1+ a?)] do
(b) f(x) =2 [5[cos(ax)/(1 + o?)] da
(c) flz) =2 [ [sin(ex)/(1 + o*)] da
(d) f(x) =2 [§"[cos(az)/(1 + a®)]da/n
(e) f(z) = Jg*[sin(az)/(1 + a®)] da/m

14. For the function f of the previous problem, the complex form of the Fourier integral
representation of f(x) is

Select the correct answer.

T

T

(2) fl2) =2 [Z[e7 /(1 + a?)lda/n
(b) flz) =2 [ [e/(1 + a?)]da

(c) f(x) =f°° e /(1 + a?)|do/n
(d) f(z) = [Z [/ (1 + a®)]da/m
(e) flz) = [Z[e® /(1 + a?)]da

15. Let f(z) = e * for x > 0. The Fourier cosine representation of f(z) is

X

X

Select the correct answer.

(a) f(2) =2 [g"[sin(ax)/(1 + o?)]da
(b) f(x) =2 [5*[cos(ax)/(1 + o?)]da/m
(c) f(z) = Jg"[sin(az)/(1 + a?)lda/x
(d) f(z) = [5"[cos(az)/(1 + a?)|da

(e) f(z) =2 [g"[cos(ax)/(1 + a?)]da



Zill Differential Equations 9e Chapter 14 Form F

16. Let f(x) = e~ ® for > 0. The Fourier sine representation of f(x) is

Select the correct answer.

(a) f(2)= Jg"(asin(az)/(1 +a?))da

(b) f(z) = [5*(acos(az)/(1 + o?)) da

(¢) f(z)=2 [ (asin(az)/(1+ a?))da
(d) f(z) =2 [y (acos(az)/(1+ a?))da/n
(e) f(z)=2 [ (asin(az)/(1+ a?))da/m

17. Consider the problem kz% = %, —o0 < x < 00, u(x,0) =
0 if x < —m/2

uy if —w/2<ax<m/2 5. Apply a Fourier transform: U(a,t) = F{u(z,t)}.

0 if x>m/2
What is the transformed equation for U?

18. In the previous problem, what is the new initial condition for U(c,t)?
19. In the previous two problems, what is the solution for U(c,t)?

20. In the previous three problems, what is the solution for u(x,t)?



ANSWER KEY
Zill Differential Equations 9e¢ Chapter 14 Form F

1.

2.

10.

11.

12.

13.
14.
15.
16.
17.
18.
19.

20.

e

a

c

b

ff e du = fé’ e du — I e du = /m[erf(b) — erf(a)]/2
E{% = sU(xz,s) — u(z,0)

Uypr = sU — u(z,0)

Temperature in a rod of length 2, initially at a temperature of zero, with the left end
held at a temperature of 0 and the right end held at a temperature of 10.

U(0,s) =0,U(2,s) =10/s

Ule,s) = RERETH = 105020 (eVse2omm) — o= Vilre2tin)

u(z,t) = 103°0° o[erfe((—z + 2 + 4n)/(2v/t)) — erfe((x + 2 + 4n) /(2V/1))]

Write a Fourier series for f(z) on the interval [—p,p]. Let p — oo. The (Riemann)
sums change into definite integrals, yielding the Fourier integral of f(x).

d
d

b

€

—ka?U = U,

U(a,0) = 2ugsin(an/2)/a
Ula,t) = 2ugsin(ar/2)e "t /o

u(z,t) = ug ffooo[sin(om/Q)e*kaQte*mx/a]da/w



Zill Differential Equations 9e Chapter 14 Form G

1. What is the relationship between erf(z) and erfc(x)?
2. What is L{erfc(a/(2v/1))}?
3. What is £~ 1{e=%*/\/5}?

4. Let U(x,s) = L{u(z,1)}. Then £{ 53} =

Select the correct answer.

20%u _ 2%u

5. Using U(z,s) = L{u(z,t)}, the Laplace transform of the wave equation a“3-5 = G

is

Select the correct answer.

(a) a?Uuy — 82U = —su(x,0) + uy(x,0)
(b) a®Uyy — 52U = —su(z,0) — uy(x,0)
(c) a’U,, — 52U = su(x,0) + uy(x,0)
(d) a?Uspe — sU = —uy(,0)
(e) a?Ugy — sU = —su(z,0)
6. In the previous problem, assume that the initial conditions are u(z,0) = 0, us(x,0) =

sin(rz) and the boundary conditions are u(0,¢) = 0, u(1,t) = 0. Then the boundary
conditions for U are

Select all that apply.

7. In the previous two problems, the solution for U(z, s) is

Select the correct answer.

(a) U = sin(mx)/(s% + m2)
(b) U = cos(mz)/(s? + 72)
(c) U =sin(rz) /(s> + a®n?)
(d) U= /

(e) U= /

28

os(mx)/(s? — a?m?)

O

sin(rx)/(s? — a®m?)
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8. In the previous three problems, the solution for u(z,t) is

Select the correct answer.

9. Find the Fourier integral representation of f(z) = e~ 1?l.

10. Solve the integral equation [;° f(z)sin(azx) dz = { (1) ii

11. Write down the Fourier cosine transform pair.

12. The Fourier sine representation of f(z) =e %, x > 0 is

Select the correct answer.

0<a<?2
a>2 ’

13. Consider the problem % + giy% =0,0<z<m0<y, u0,9) =0, u(ry) =e 2,

‘g—;(az, 0) = 0. Describe a physical problem for which this is a mathamatical model.

14. In the previous problem, apply a Fourier cosine transform. The new equation for

U(z,a) = Ffu(x,y)} is

Select the correct answer.
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15. In the previous two problems, the boundary conditions for U are

Select all that apply.

(a) U(0,a) =0
(b) U(0,0) =2/(4 + a?)
(c) U(m,a) =2/(4+ a?)
(d) U(m,a) =a/(4-a?)
(e) U(m,a) =0

16. In the previous three problems, the solution U(z,a) is

Select the correct answer.

(a) U = 2sinh(az)/((4 — a?)sinh(ra))
(b) U = 2sinh(ax)/((4 + o?) sinh(ra))
(c) U = 2asinh(ax)/((4 + o?) sinh(ra))
(d) U = asinh(az)/((4 + a?)sinh(7a))
(e) U = sinh(ax)/((4 + o?) sinh(ra))

17. In the previous four problems, the solution u(z,y) is

Select the correct answer.

(a) u=2[°sinh(az)cos(ay)/((4 — o) sinh(ra)) da/7

(b) u =2 [;° sinh(az) cos(ay)/((4 + a?) sinh(ra)) da/m

(¢) u=4[;° asinh(ax) cos(ay)/((4 + a?) sinh(ra)) do/7

(d) u =4 [;° a?®sinh(az) cos(ay)/((4 + a?) sinh(ra)) do/7
) (4 +

(e) u =4 [;°sinh(az)cos(ay)/((4 + o?) sinh(ra)) da/m

0 if <0
18. Let f(x) =4 1 if 0<z <2 ;. Find the Fourier integral representation of f(z).
0 if T > 2

19. In the previous problem, simplify the integral as much as possible using trigonometric
identities.

20. Using the formula in the previous two problems, evaluate [3°[sin a/a]da



ANSWER KEY
Zill Differential Equations 9e¢ Chapter 14 Form G

—_

. erf(z) +erfe(z) =1
2. e~ W5 /s
6—a2/4t/\/ﬁ

o

9. f(x) =2 [;° cos(ax)/(1 + a?)da/m
10. f(x) =2(1 — cos(2x))/(mx)
11. A(a) = [5° f(z) cos(ax) dz, f(x) =2 [5° A(a) cos(azx) da/T
12. a

13. Steady state temperature distribution in a semi-infinite plate with temperature fixed
at zero at x = 0, temperature fixed at e~?¥ at = 7, and insulated along y = 0.

14. d
15. a, ¢

16. b

17. e

18. f(z) = [2°{[sin(2) cos(az) + (1 — cos(2a)) sin(az)]/a} do/x
19. f(z) = 2 [$°[sin o cos(a(x — 1))/a] da/m

20. /2



Zill Differential Equations 9e Chapter 14 Form H

1. The complementary error function is defined as

Select the correct answer.

(a) erfe(x) = [y e du

(b) erfe(x) = [° e~ du

(c) erfe(x) =2 ge*ﬁdu/w
(d) erfe(z) =2 [ e " du/\/T
(e) erfe(x) =2 [ e " du//T

2. The value of lim,_,q erfc(x) is

Select the correct answer.

3. The value of L{erf(\/t)} is

Select the correct answer.

(a) 1/(svs+1)

(b) 1/(svs = 1)

() A=1/Vs+1)/s

(d) A-1/Vs=1)/s
)

(e) none of the above

4. The value of L{elerf(v/t)} is

Select the correct answer.

(a)

(b)

() 1/(s(v/s+1
(d) 1/(s(vs = 1))

(e) none of the above

5. Show that [*, e™* du = y/merf(a)

6. If U(x,s) = L{u(x,t)}, what is £{Z4}?

7. Consider the wave equation aQ% = %273. Apply a Laplace transform in ¢ and write

down the new equation for U(z,s) = L{u(z,t)}.
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8. In the previous problem, if the boundary and initial conditions are u(0,t) = 0,
u(2,t) =0, u(x,0) = sin(mx/2), ut(x,0) = 0, describe a physical problem with this as

a mathematical model.

9. In the previous two problems, what are the new boundary conditions for U?

10. In the previous three problems, what is the solution for U(z,s)?
11. In the previous four problems, what is the solution for u(zx,t)?

r if 0<z<?2
12. Letf(a:):{o I > 92

Select the correct answer.

T

(a) f(z) = [;°[(2acos(2a) + 1 —sin(2a)) cos(az)/a?] da
(b) f(z) =2 [¢°[(2a cos(2a) 4 1 — sin(2a)) cos(ax)/a?] do
(¢) f(z) =2 [s°[(2asin(2a) — 1 + cos(2a)) cos(ax)/a?] da/m
(d) f(=z)

) [(z)

T

T

d Jol(2asin(2a) — 1 4 cos(2a)) cos(ax) /o] da/m
(e =2 [°[(2asin(2a) + 1 — cos(2a)) cos(ax) /a?] do

13. In the previous problem, the Fourier sine representation of f(x) is

T

Select the correct answer.

(a) f(x)
(b) f(=)
(¢) f(z)
(d) f(=)

) [f(x)

z) =2 [7°[(—2a cos(2a) + sin(2a)) sin(ax)/a?]da/7

I (-2 cos(2a) + sin(2a)) sin(ax) /a?|da/m
2 [ [(—2a cos(2c) + sin(2«)) sin(ax) /a?]da

I l(2ac cos(2ar) — sin(2a)) sin(ax) /a?]|da

2

JoC (2 cos(2a) — sin(2a)) sin(ax) /a?]da

T

d
(e

T

T

14. In the previous two problems, let f(z) be extended as an odd function.

integral representation of f(z) is

Select the correct answer.

(a) f(z) =2 [;°[(—2c cos(2a) + sin(2a)) sin(ax)/a?]da
(b) f(z) =2 [3°[(2a cos(2a) — sin(2a)) sin(az) /a?]do

(¢) f(z)=2[5°[(2a cos(2a) — sin(2c)) sin(ax)/a?]do /7
(d) f(z) =2 [ [(—2acos(2a) + sin(2a)) sin(az) /a?]da/m
(e) f(z) = [s°[(—2acos(2a) + sin(2c)) sin(ax)/a?]da/m

}. The Fourier cosine representation of f(x) is

The Fourier
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15. In the previous problem, the value to which the representations of f(x) converges at
r=21is

Select the correct answer.

(a) 2
(b) 1
(¢) 0
(d) -2
(e) -1

16. Consider the problem % = %, x>0,t>0,u(0,t) =0, u(z,0) = xe ™, u(x,0) =
0. Apply a Fourier sine transform to form a function U(a,t). What is the Fourier

sine transform of %?
17. In the previous problem, what is the new differential equation for U?
18. In the previous two problems, what are the new initial conditions on U?
19. In the previous three problems, what is the solution for U(«,t)?

20. In the previous four problems, what is the solution for u(z,t)?



ANSWER KEY
Zill Differential Equations 9e Chapter 14 Form H

1.d

2. ¢

3. a

4. b

5. [¢, e du =2 I e " du = \/Terf(a)
6. L{T4} = Upp(w, )

7. a*Uyy = 82U — su(z,0) — uy(x,0)

8. Vibrations of a string, tightly stretched between x = 0 and x = 2, with initial position
sin(mz/2) and zero initial velocity

9. U(0,a) =0, U(2,a) =0
10. U = ssin(mz/2)/(s? + (am/2)?)
11. u = cos(ant/2) sin(mz/2)
12. ¢
13. a
14. d
15. b
16. Fs{uge} = —a?U
17. Uy = —a?U
18. U(a,0) = 2a/(1 + a?)?, Uy(c,0) = 0
19. U(a,t) = 2accos(at)/(1 + a?)?

20. u(x,t) =2 [y [2a cos(at) sin(ax)/(1 4+ a?)?] da /7



